Dark Energy is Gravitational Potential Energy or Energy of the
Gravitational Field [T

Hyoyoung Choi * [

xIndependent Researhcer, Seoul, Republic of Korea

Abstract

When the bound object acts on gravity, the gravitational action of gravitational potential energy
is also included. Therefore, even in the case of the universe, the gravitational action of gravitational
potential energy must be considered. Gravitational potential energy generates a repulsive force
because it has a negative equivalent mass. Mass energy (Mc?) is an attractive component, and
the equivalent mass (—M,,) of gravitational potential energy is a repulsive component. Therefore,
if |(—=Mgp)c?| < Mc?, there is a decelerated expansion, and if |(—My,)c?| > Mc? |, accelerated
expansion is performed. |(—M,,)c?| = Mc? is the inflection point from the decelerated expansion
to the accelerated expansion. Dark energy is gravitational potential energy or the energy of the
gravitational field. Dark energy arises because any positive energy (mass) contained within the
range of gravitational interaction creates negative gravitational potential energy. While positive
mass energy is proportional to M, absolute value of gravitational potential energy increases faster
because gravitational potential energy is proportional to —M;. Therefore, as the universe ages and
the range of gravitational interaction expands, a situation arises where the negative gravitational
potential energy becomes greater than the positive mass energy, and thus the universe is accelerating
expansion. I present Friedmann equations and dark energy function obtained through gravitational
potential energy or gravitational self-energy model. There is no cosmological constant and dark
energy is a function of time. This model predicts an inflection point where dark energy becomes
larger and more important than the energy of matter and radiation.

1. Gravitational action of the gravitational potential energy or
gravitational field

The basis of modern cosmology is Einstein’s 1915 field equation. However, this field equation has a sin-
gularity problem inside the black hole. In other words, the field equation created by Einstein is likely to be
incomplete.

The fundamental principle of general relativity states that “all energy is a source of gravity”. However, the
field equation created by Einstein did not fully realize this principle.

In writing the field equation (48) we have assumed that the quantity T*" is the energy-momentum
tensor of matter. In order to obtain a linear field equation we have left out the effect of the
gravitational field upon itself. Because of this omission, our linear field equation has several (related)
defects: (1) According to (48) matter acts on the gravitational field (changes the fields), but there is
no mutual action of gravitational fields on matter; that is, the gravitational field can acquire energy-
momentum from matter, but nevertheless the energy-momentum of matter is conserved (0,TH =
0). This is an inconsistency. (2)Gravitational energy does not act as source of gravitation, in
contradiction to the principle of equivalence. Thus, although Eq. (48) may be a fair approximation
in the case of weak gravitational fields, it cannot be an eract equation.
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The obvious way to correct for our sin of omission is to include the energy-momentum tensor of the
gravitational field in T*. This means that we take for the quantity THY the total energy-momentum
tensor of matter plus gravitation:

T = TM

( )+t‘“’ 1]

The energy of the gravitational field must also function as a gravitational source. However, because it
was difficult to define the energy-momentum of the gravitational field, Einstein could not complete the field
equation including the gravitational action of the gravitational field. [2] Methods such as the Landau-Lifshitz
pseudotensor [3] exist for describing the energy-momentum of a gravitational field, but not everyone agrees.
Also, it seems that these pseudotensors are not developed enough to be applied to cosmology. By the way, it

may be sufficient to include the equivalent mass density of gravitational self-energy in T(‘:Z ) without introducing
tHY.

Therefore, in this paper, based on the corresponding principle that general relativity is approximated by
Newtonian mechanics in a weak field, I approach the gravitational action of gravitational energy as an approx-
imate way (gravitational potential energy). And I will prove that this method suggests sufficiently meaningful
results in cosmology.

1.1. Negative mass (energy) density in standard cosmology
1.1.1. The logical structure behind the success of standard cosmology
From the second Friedmann equation or acceleration equation, (¢=1) [4]
1 d’R 4G
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In the standard cosmology, it is explained by introducing an entity that has a positive mass (energy) density
but exerts a negative pressure. [4] 5] 6]

pA +3P = py+3(—pa) = —2pa (2)

However, if we expand the dark energy term, the final result is a negative mass density of —2p,.

Let’s look at the expression expressing (p + 3P) as the critical density of the universe.
Matter 4+ Dark Matter : pp, ~ %p.

Dark energy density : pa ~ 2p.

(Matter + Dark Matter)’s pressure : P, =0

Dark energy’s pressure : Py = (—py) = (—2p.)

P4 BP =+ pa+ 3P+ PA) = (D)oot (e +3(-2)pe = (4o + (-2pe = (pe (3
p+3P = (+1)pe + (=2)pec = (—1)pe (4)

Standard cosmology is a form of positive mass density of +1p. and negative mass density of
—2p.. So, finally, the universe has a negative mass density of “—p.”, so accelerated expansion is taking
place. Because mass and energy are equivalent, the current universe is similar to a state in which negative
energy is twice as much as positive energy. And the observable universe is in a state of negative energy.

1.1.2. The claim that vacuum energy and the cosmological constant have a negative pressure
is wrong

In standard cosmology, accelerated expansion is impossible without a negative mass density. Because
researchers have an aversion to negative mass density, they are just using negative pressure instead of negative
mass density. However, the claim that vacuum energy and the cosmological constant have a negative pressure
is wrong.

1.1.2.1. Sign of the negative pressure [7]



From the ideal gas equation of state,
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In the kinetic theory of gas molecules, we know that pressure is directly related to kinetic energy.

PV =

we arrive at the acceleration equation.

8 — (28 (p+3P)R

Note that the effect of the pressure P is to slow down the expansion (assuming P > 0). If this seems
counterintuitive, recall that because the pressure is the same everywhere in the universe, both inside
and outside the shell, there is no pressure gradient to exert a met force on the expanding sphere.
The answer lies in the motion of the particles that creates the fluid’s pressure. The equivalent
mass of the particle’s kinetic energy creates a gravitational attraction that slows down
the expansion just as their actual mass does. [4]

In the acceleration equation, the pressure P is related to the momentum or kinetic energy of the particle.
Therefore, it seems that in order for the pressure P to have a negative value, it must have negative momentum or
negative kinetic energy. So, assuming that the pressure P term has a negative energy density is same assuming
that it has negative kinetic energy. In order to have negative kinetic energy, it must have negative inertial mass
or imaginary velocity. But, because they assumed a positive inertial mass, it is a logical contradiction.

1
K:imﬁ<o (6)

m < 0 or v = Vi : negative mass or imaginary speed.
Negative mass contradicts the assumption of positive energy density, and energy density with imaginary
speed is far from physical reality.

1.1.2.2. Size of the negative pressure [7|
In the case of matter, P =0

In the case of radiation, P = %p

In the case of dark energy, P = —p = —3(3p)

Only considering the size (absolute value)
Since pressure is related to kinetic energy, in order to have a greater pressure than light, it seems that the
subject must have a speed greater than light.

v=13c (7)

Considering even the negative sign

v = (V3c)i (8)

We need energy density with imaginary super-luminous speed.

If we seriously consider the physical presence of P = —p = —3(
problem.

%p), we will find that there is a serious

1.1.2.3. Incorrect application of dU = —PdV
In the equation dU = —PdV, researchers claim that negative pressure exists if the energy density remains
constant as the volume increases. Is this claim correct?

1.1.2.3.1. This explanation is an inverted explanation

Since pressure is a property of an object, pressure exists first, and because of this pressure, changes in
internal energy according to volume change appear.

That is, since pressure is positive, if dV > 0, then dU < 0.

Since the pressure is positive, if dV < 0, then dU > 0.

By the way, we use the logic “if dV > 0, dU > 0, then P < 0”. How are you sure that this logic is correct?



1.1.23.2. p+3P =p+3(—p) = —2p

Mass density p and pressure P (at c%, c¢=1) are properties of the object to be analyzed. Both mass density
p and pressure P are sources of gravity. It means that even if the region maintains a constant size without
expanding or contracting, gravitational force is applied as much as p + 3P = —2p.

In other words, it suggests that the object (or energy density) has a gravity with a negative mass density
of —2p. This is different from a vacuum with a positive energy density +p, which we think of.

1.1.2.3.3. dU = —PdV is the expression obtained when the law of conservation of energy is established

However, in the case of vacuum energy and the cosmological constant, energy conservation does not hold. As
the universe expands, the total energy in the system increases. Therefore, we cannot guarantee that dU = —PdV
holds. dU = —PdV is an equation that holds when the energy of the system is conserved. However, researchers
are applying this equation to vacuum energy or cosmological constant where the energy of the system is not
conserved. This is problematic.

I am not sure if dU = — PdV holds even for negative pressure. In the case of negative pressure, there may be
a sign reversal. However, although this equation holds even in the case of negative pressure, its interpretation
is as follows.

This equation holds true when substances in radius r; expand from ry to 9 (r3 > 71), and have the same
uniform density in 71 and r5. In other words, it is argued that a negative pressure is required to create a uniform
density effect only with the material present in radius r;. But, vacuum energy is a form in which energy
is newly generated by an increased volume. It is also energy that can be assumed to have an initial speed of
0 ~ ¢. Considering the positive energy density, pressure term seems reasonable to assume 0 ~ % p.

We can considered the vacuum energy density with P = 0. However, in order to have a uniform energy
density even when space expands, does it have to suddenly have negative pressure? Shouldn’t it be newly
created, with P = 0, and filling the expanded space?

Can we not think of a vacuum energy density with P = 07 Can’t there be a vacuum energy density with
0~ %p ? Even if vacuum energy with positive energy density is present, it is not certain whether it creates a
negative pressure.

There is no physical entity that satisfies p+3P = p+3(—p) = —2p. Nothing has a kinetic energy component
three times greater than that of light. Vacuum energy and cosmological constant has no negative pressure. The
negative pressure is due to incorrect application of dU = —PdV.

Vacuum energy with positive energy density +p does not have a negative pressure, but has a 0 ~ positive
pressure. Because the pressure is related to the kinetic energy.

Researchers, who could not accept negative mass density, try to somehow create an accelerated expansion
through the equation p+ 3P, so assuming magic with positive energy density but negative pressure. As a result,
we have created something imaginary, not a physical reality. It is not necessary for an entity to exist that exerts
a negative pressure while having a positive energy density. It is sufficient that a positive energy component and
a negative energy component exist. And, the negative energy component may be the gravitational potential
energy or gravitational field’s energy.

The vacuum energy model is a model with a positive mass density +p and a negative pressure 3P = —3p.
On the other hand, the gravitational potential energy model is a model with a positive mass density +p and
an equivalent mass density —pg, of gravitational potential energy. The equivalent mass density of gravitational
potential energy will replace the role of negative pressure in standard cosmology.

1.2. The energy of a gravitational field is negative
Alan Guth said: [8]

The energy of a gravitational field is negative!

The positive energy of the false vacuum was compensated by the negative energy of gravity.



Stephen Hawking also argued that [9]

The matter in the universe is made out of positive energy. However, the matter is all attracting
itself by gravity. Two pieces of matter that are close to each other have less energy than the
same two pieces a long way apart, because you have to expend energy to separate them against
the gravitational force that is pulling them together. Thus, in a sense, the gravitational field has
negative energy. In the case of a universe that is approximately uniform in space, one can show
that this negative gravitational energy exactly cancels the positive energy represented by the matter.
So the total energy of the universe is zero.

Now twice zero is also zero. Thus the universe can double the amount of positive matter energy
and also double the negative gravitational energy without violation of the conservation of energy.

Both argued that gravitational potential energy is negative energy and is the true energy that can cancel
positive mass energy.

1.3. Gravitational self-energy or gravitational binding energy
The concept of gravitational self-energy (Uys) is the total of gravitational potential energy (Uy,p) possessed
by a certain object M itself. Since a certain object M itself is a binding state of infinitesimal mass dMs, it
involves the existence of gravitational potential energy among these dMs and is the value of adding up these.
M=>dM.
Gravitational self—energyﬁ or Gravitational binding energy(—Uys) in case of spherical uniform distribution
is given by
3GM?
5 R

Ugs = Ugp = (9)
Treating the Earth as a continuous, classical mass distribution (with no gravitational self-energy in

the elementary, subatomic particles), we find that its gravitational self-energy is about 4.6 x 10710
times its rest-mass energy. The gravitational self-energy of the Moon is smaller, only about 0.2 x

10710 times its rest-mass energy. - Gravitation and Spacetime |1]

All energy is a gravitational source, and gravitational potential energy is also a gravitational source. Thus,
the gravitational field is self-interacting. This makes the problem very complicated. However, gravitational
self-energy is the first set of gravitational potential energies produced by a mass. Thus, the gravitational self-
energy will be in the first term when developing the solution of gravitational interaction. Since gravitational
self-energy is the largest and most important first-order term, we need to utilize it.

The gravitational self-energy is proportional to —M72. Therefore, as the mass increases, the gravitational
self-energy value increases.

In the case of Moon, Ugs—roon = (—1.89 X 107M) Mpsoonc?

In the case of Earth, Uys— partn = (—4.17 x 10719 Mpggenc?

In the case of the Sun, Uys_sun = (—1.27 x 1074) Mgync?

In case of a Black hOIQa Ugszlackfhole = (*30 X 1071)MBlack7holeC2

3GM? 3 GM? 3
s Black—hole = —=—p— = —= —5ay= = —=—=Mc” 10
Ugs—Black—hol E TR 5 (2GH) ToMe (10)

It can be seen that as the mass increases, the ratio of gravitational self-energy increases. It can be seen that
the gravitational potential energy is about 1/10000 of the (free state) mass energy in the case of the sun and
30% of the (free state) mass energy of the black hole at the event horizon of the black hole. So, now we can
ask the following question. What about the universe with much greater mass?

1.4. Binding energy in the mass defect problem

3Gravitational potential energy = Gravitational self-energy = - Gravitational binding energy ~ Energy of gravitational

2
field. In Newtonian mechanics, all four energies are of the form U = ka%[ , and the three energies are k = g in the
case of a spherical uniform distribution. Depending on the integration section, the energy of the gravitational field may

be k=3/5 or may vary.
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Figure 1: In order for a system to form a bond state, a mass defect equal to the binding energy must
occur.

Consider situations a) and c).

In a), the total mass of the two particle system is 2m, and the total energy is Er, = 2mc?

In c), is the total energy of the two particle system Ep, = 2mc? ?

In ¢), when the two particle system act gravitationally on an external particle, will they act gravitationally
with a gravitational mass of 2m?

Are a), b) and ¢) the same mass or same state?

If you do not apply negative binding energy, the conclusions you get will not match the actual results.
In ¢), the total energy of the two particle system is

Gmm

Br, =2mc? — (11)

In the dimensional analysis of energy, E has kg(m/s)?, so all energy can be expressed in the form of
(mass) X (velocity)?. So, E = mc? holds true for all kinds of energy. Here, m is the equivalent mass. If we
introduce the negative equivalent mass —myg, for the negative gravitational potential energy,

r

G
- —Mgpc? (12)
r
G
Er, =2mc® — % =2mc® — mgpc® = (2m —my,)c? = m*c? (13)

The gravitational force acting on a relatively distant third mass mg is

Gm*ms G(2m — mgp)ms G(2m)ms  G(—mgp)ms
F=r =" R TR R (14)
That is, when considering the gravitational action of a bind system, not only the mass in its free
state but also the binding energy term (—m,,) should be considered. Alternatively, the gravitational
force acting on the bind system can be decomposed into a free-state mass term and an equivalent mass term of
binding energy.
While we usually use the mass m™* of the bind system, we forget that m* is “m — Myinding—enerqy” - Gravi-
tational potential energy is also a kind of binding energy. Therefore, the gravitational potential energy, which
is the binding energy, must also be considered in the universe.

When a macroscopic object is subjected to gravitational force, the equation includes the gravitational term
of the negative gravitational potential energy. In a normal case, since the term of gravitational potential energy
is negligible compared to mass energy, it can be neglected. Alternatively, you can think of the mass of the



gravitational source as the equivalent mass m™* including the gravitational potential energy, not the free mass.
However, since the gravitational potential energy has a fairly large value near the Schwarzschild radius, it must
be considered. The same is true of the universe.

Look at the second term again, it is the repulsive force (anti-gravity) term.

G(mgp)ms
R2
What if, in the observable universe, the second term is greater than the first term?
It can be seen that it has the potential to explain the accelerated expansion of the universe.

Fop =+ (15)

2. Dark energy is gravitational potential energy or the energy of
the gravitational field

The universe is almost flat, and its mass density is also very low. [|4] [10] Thus, Newtonian mechanics
approximation can be applied. And, the following reasoning should not be denied by the assertion that “it is
difficult to define the total energy in general relativity.”

Whether or not it is an appropriate approximation is not determined by current field equation and current
general relativity. This is because the current field equation is an incomplete field equation that does not include
the gravitational action of the gravitational field. When it is difficult to find a complete solution, we have found
numerous solutions through approximation. The success of this approximation or inference must be determined
by the model’s predictions and observations of the universe.

Equation (29.51, acceleration equation) is an illustration of Birkhoff’s theorem. In 1923 the Amer-
ican mathematician G.D.Birkhoff (1884-1944) proved quite generally that for a spherically sym-
metric distribution of matter, Finstein’s field equations have a unique solution. As a corollary,
the acceleration of an expanding shell in our fluid universe is determined solely by
the fluid lying within the shell. Equation (29.51) shows that the acceleration does not
depend on any factors other than p, P, and R. Because Birkhoff’s theorem holds even when
general relativity is included, it is quite important in the study of cosmology. |4

By Birkhoff’s theorem, only the mass or energy component within the gravitational interaction range is
important. If we find the positive energy (Mc?) and gravitational potential energy ((—M,,)c?) values at each
radius R of gravitational interaction, positive energy is an attractive component, and the gravitational
potential energy is a repulsive component.

|(—Myp)c?| < Mc? : Decelerating expansion period
|(—Mgp)c?| = Mc? : Inflection point

|(—Mgp)c?| > Mc? : Accelerating expansion period
Critical density value p. = 8.50 x 10727 [kgm 3] |10] was used. In practice the density changes, but we just
need to look at the trend.

2.1. Comparison of magnitudes of mass energy and gravitational potential energy in the
cosmic event horizon R = 16.7Gly

2.1.1. At R =16.7Gly, total mass energy

Cosmic event horizon 16.7Gly. Since the universe is almost flat spacetime, the total mass energy (include
radiation energy) in the R = 16.7Gly is

47 R3 pc?
3
2.1.2. At R = 16.7Gly, gravitational potential energy

M = =1.28 x 10 [kgm?s 2 (16)
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2.1.3. Comparison of magnitudes of total mass energy and gravitational potential energy in

the R = 16.7Gly

= —4.99 x 10%[kgm?s—? (17)

U —4.99 x 10
Mc2 128 x 107

In the calculation, the current critical density value was used, but when the range of gravitational interaction
is 16.7Gly, the density is different from now. So, just look at the logic.

In the R = 16.7Gly, the repulsive component is smaller than the attractive component. In this period, the
universe is decelerating expansion. That is, when the range of gravitational interaction is 16.7Gly, the dark
energy component is smaller than that of matter. This period is a period of decelerated expansion.

= —0.39 (18)

2.2. The inflection point that changes from decelerated expansion to accelerated expansion

The inflection point R, is that the range of gravitational interaction at the transition from material dom-
inance to dark energy dominance. The range of gravitational interaction at the transition from a period of
predominant attraction to a period of predominant repulsion.

If the mass energy and the gravitational potential energy are equal, then

3 GM?

Mc* =|— = 19
¢=l-5% (19)
5¢2
= 2
RQP 471'Gp ( 0)

We only need to understand the general flow and possibility, so let’s get Ry, by putting in the current
critical density value. If we know the exact density function, we can find the exact inflection point.

5¢2

Ry = 47Gp

= 26.2Gly (21)

Assuming that the average density is approximately 1.25 times the current average density,

we get Ry, = 23.7Gly.

Assuming that the average density is approximately 1.5 times the current average density,

we get Ry, = 21.4Gly.

Assuming that the average density is approximately 2 times the current average density,

we get Ryp = 18.7Gly.

Comparing the data from the existing particle horizon graph, it is estimated that it is approximately 5 to 7
billion years ago from the present. This is similar to the result of standard cosmology. [4] This model includes
the transition of the universe to the period of decelerated expansion, the inflection point, and the period of
accelerated expansion.

2.3. Comparison of magnitudes of mass energy and gravitational potential energy in the
observable universe
2.3.1. At R = 46.5Gly, total mass energy

47 R3pc?
3
2.3.2. At R = 46.5Gly, Gravitational potential energy

M = =2.71 x 107 [kgm?s~2] (22)

§GM2 o 16m2GR5 p?

= — — E——3 171 2 _—2 9
U R 15 8.35 x 10" [kgm~s~7] (23)

2.3.3. In the observable universe, the ratio of total mass energy to gravitational potential
energy



Particle horizon vs time

20

70

>
.

60

w /

Particle Horizon (billion light years)

1

1

1

]

/ i

1

{0

30 fr 1

/ i

262 :

1

I

20 / 1

18.7 i

1

1

1

1

10 -

1

1

1

1

]

1

0 1
0 5 10 15 20

Age of the
Universe (billion years) -->

Figure 2: Particle horizon vs time. About 5-7 billion years ago, it passed the inflection
point 18.7 ~ 26.2Gly. About 5 to 7 billion years ago, it can be said that the universe entered a
period of accelerated expansion. The inflection point is affected by the density.
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The repulsive force component is approximately 3.08 times the attractive force component. So, the universe
is accelerating expansion.

= —3.08 (24)

2.4. Result summary
At the range of gravitational interaction R=16.7Gly, (—M,,)c? = (—0.39M)c?
|(—Mgp)c?| < Mc? : Decelerating expansion period

At the range of gravitational interaction R=26.2Gly, (—My,)c? = (—1.00M)c?
|(—Mgp)c?| = Mc? : Inflection point (About 5-7 billion years ago, consistent with standard cosmology.)

At the range of gravitational interaction R=46.5Gly, (—M,,)c? = (—3.08 M )c?
|(—Myp)c?| > Mc? : Accelerating expansion period

2.5. In the standard cosmology, the ratio of attractive and repulsive components
The following ratio is approximate ratio obtained from standard cosmology.

Mre ulsive -3 —3(0.683
pulsive _ 3PN _ (068p) _ 55 (25)
Mattractive Pm + PA 0317p + 0683[)




At 16.7Gly, the attraction component is larger than the repulsive component, whereas at 46.5Gly, the
repulsive component is 3.08 times larger than the attractive component. In the middle, there is an inflection
point that changes from decelerated expansion to accelerated expansion. About 5-7 billion years ago, similar to
the predictions of standard cosmology.

Although there is a slight difference between the two values, it is not an astronomical error, so it is likely
to be resolved later. It is possible that kinetic energy, general relativity, density function, cosmological effects,
assumption of uniformly distribution, or differences in cosmological models may explain the difference between
the two values.

2.6. Regarding the cause of the error

2.6.1. New formula for calculating gravitational self-energy

According to the principle of general relativity, gravitational potential energy is also a source of gravity.
Therefore, there is a problem in the conventional expression of gravitational self-energy.

Looking at the formula we use to find gravitational self-energy,

4T 4

M = 5P (26)

dm = pr2dr sin 0d0dy (27)
M/

AUy = —G Tm (28)

In the existing gravitational self-energy equation, the gravitational action due to negative gravitational self-
energy is omitted from the internal mass M’ term. The equivalent mass of gravitational self-energy must also
be reflected in the M’ term.

3GM”?  4r 1672G
]\4*21\4/—1\45/:]\4/—77:73 _752 29
g 5 72 3 7 1522 | P (29)
M*dm G(M’ — M, ')(perrsinﬁdﬁdcp) (47TG,02 4 1672G2%p3
ro 15¢2

27 2,2 3 27
Uys = — 47er/ 4d7~/ sm0d0/ dip +167;5G2 / 6dr/ sm9d9/ dyp (31)

_ (47p)* G/ 4 (47p)* G2/ 6,  3GM?* (4mp) G2 1 -
V=g ), "I+t 52 ), T ="5"R 2 70

3GM? 3GM
1222
"5 R R 7R02) (33)

3 GM? 3GM 3 GM?
( 5 R )+(7R025 R )

The first term is the gravitational self-energy term produced by the positive mass M, and the second term is
the gravitational self-energy term created by the equivalent mass of the gravitational self-energy of the internal
mass M’. The second term is very small in the case of ordinary matter and can be neglected, but it cannot be
neglected when there are sufficiently many substances such as the universe.

The above equation depends on the process or pathway that collects the matters. However, since the present
cosmic situation does not collect the materials in the free state, the application of this formula does not seem
reasonable. The present universe is a case in which, as the universe ages, the range of gravitational interac-
tion expands, and objects that were outside the gravitational interaction suddenly participate in gravitational
interaction, and gravitational potential energy is generated.

dUgs = —G r%)drsinfdfde  (30)

(32)

Uyps =

Ugsz = UgsfM + Ugsfgs = (34)

Comparing the first and second terms, At R = 46.5Gly,

3GM?2,  3GM. 3 GM?

Ups = =5 U= 752) =02GEFR)

10
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If we look for the case where (1 — %3

M
_3GM 3 h O, (36)

R=s—a =qfts=3

2.6.2. Universe structure correction variable or Gravitational self-energy correction variable
B(1)

Another possibility related to the cause of the error is the mass problem of strongly bound objects, such
as stars, black holes and galaxies. The mass of a star or galaxy observed from the outside will already be the
total mass reflecting the value of its own gravitational energy. On the other hand, the gravitational self-energy
equation assumes a uniform distribution and calculates all gravitational potential energy terms. In other words,
there is a possibility that the gravitational self-energy term is over-calculated.

By introducing the universe structure (correction) variable 8(t), if we correct the gravitational self-energy
value,

B(t) = % — 0.665 (37)
Uy’ = Bty = (0.665)(~ 200 (39)

Although the universe structure correction variable 3(¢) is a variable in all time, it is thought that it can be
treated almost like a constant since the change will be small after the galactic structure is formed. Therefore,
B can be called a universe structure constant. It is a name corresponding to the fine structure constant of
elementary particle physics, and can also be called a macro structure constant.

2.6.3. Because of the propagation velocity of the field, it is possible that some matter within
the range of gravitational interaction is not participating in gravitational interaction

That is, it is possible that the gravitational force has not yet been transmitted from one end to the other.
There is a possibility of overcalculation of gravitational potential energy.

2.6.4. Additionally, there may be general relativistic and cosmological effects

In addition to 2.6.1. - 2.6.4. mentioned here, there may be factors that need to be corrected. In summary,
I will use the universe structure correction variable 5(t).

3. New Friedmann equations and cosmological constant function
obtained by the gravitational potential energy model

The Friedmann equation can be obtained from the field equation. The basic form can also be obtained
through Newtonian mechanics. If the object to be analyzed has spherical symmetry, from the second Newton’s
law, R(t) = a(t)R

*R(t)  GM(t)m

a2 R(t)? (39)
m% = Gmw = me%ra(t)Rp(t) (40)
o3 =~ (a1)
By adding pressure, we can create an acceleration equation.
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Let’s look at the origin of mass density p here! What does p come from? It comes from the total mass M
inside the shell. The universe is a combined state because it contains various matter, radiation, and energy.
Therefore, the total mass m* including the binding energy must be entered, not the mass “2m” in the free state.
“m* =2m+ (—mygp)”, i.e. gravitational potential energy must be considered.

The acceleration equation is derived from general relativity. However, I think that the fact that it can be
derived from Newtonian mechanics also increases the likelihood of success in Newtonian mechanical reasoning.

Even when using the FLRW metric, there is a relative distance a(¢)R or radius defined by the scale factor
a(t), and there is a mass density. If we multiply the mass (energy) density by the coefficient, it will be restored
to the mass in a(t)R. As long as internal masses are applied, the gravitational potential energy between their
internal mass terms always seems applicable.

The current cosmological constant model is

1 81G
Ruu - §Rguu + Aguu = CTTMV (43)
a., 8mGp kc®  Ac?
V2 = 44
(=) 3 2 3 (44)
a AnG 3P Ac?
a_ 27y 2T 45
. 3+ —5)+ =3 (45)
3.1. In the gravitational potential energy model, Friedmann equations
In the gravitational potential energy model, if we derive the Friedmann equation,
3GM? 162G R®(t)p?(t)
M, == t) = — t 4
=5 Bt = ) (46)
— My, 4G R? p?
—Pgp = % = - 52 B(1) (47)

—pgp is the equivalent mass density of gravitational potential energy, and 3(t) is the universe structure
correction variable. Instead of mass density p, we have (p) + (—pgp). R(t) is the radius of gravitational
interaction. R(t) = a(t)R. a(t) is the scale factor.

a 4G P 4G P 4G
S T pa) + ) = T 0 )+ (15)
a  4AnG 3P,  B(t) 4nGR(t)p(t)
i WU R - e e ()
Dark energy term and Cosmological constant term
Ac* B(t) ArGR(t)p(t)
T e (50)
A = (o) TEIDPL 2 _ 5 AT 61)

V/5¢2 V5c2

First Friedmann equation

., 87Gp ke B(t) AnGRp 4

)2 — R T S 2

() 3 zt s () (52)
Second Friedmann equation or acceleration equation

a  4nG 3P,  B(t) ,4nGRp.,

S =T+ S+ (T (53)

To see if the derived equation is probable, let’s find the value of the cosmological constant.

B(t) (4(3.14)(6.67 x 107U m3kg=1572)(46.5 x 9.46 x 10**m)(8.50 x 10~2"kgm—3)
5 (2.99 x 108ms—1)°

A= IR E7Y
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t) 4rGR
A= @( ”62 Y2 = (2.455 x 10~52m=2)3(¢) (55)
The value obtained from the Planck satellite is, [10]
H
A= 3(70)2% = 1.1056 x 10752, 2 (56)

Now, we get the universe structure variable (or constant)

_1.1056 x 107%2m 2

tnow - = 0.450 57
Bltnow) 2.455 x 10752m—2 (57)
First Friedmann equation
a, 8mGp kch 2rGRp .,
(Cp =T - 2 (T (55)
Second Friedmann equation, acceleration equation
a  4ArG 3P 2rGRp .5
LT+ ST D) (59)
Dark energy term
A(t)e*  B(t) ArGR(t)p(t) o ., 27GRp.,
3 = g5 ) =35 ) (60)
6mGR(t)p(t
Agp) = (TEEDPD) 61)

R(t) is the radius of gravitational interaction. In the gravitational potential energy model, if p(t) o %7

it is possible that the density of dark energy seems to be constant. However, I think that the density of dark
energy will change.

Note that the gravitational potential energy model and the cosmological constant model have different
elements. For example, the gravitational potential energy model has a negative energy density and does not
assume negative pressure. In addition, the dark energy density is a constant in the cosmological constant model,
but the dark energy density is a variable in the gravitational potential energy model. Since R(t) and p(t) are
functions of time, the dark energy (or cosmological constant term) is a function of time.

3.2. In the gravitational field’s energy model, Friedmann equations
From the similarity of gravity and electromagnetic force, the energy density of the gravitational field is

1 Qr
E0= e ©2)
GMr
o) = (63)
g(r)2 GM?r?
= — = — 4
)= "%G 87RO (64)
R R 2 2

GM 1 GM 1

_ 2 4. _ 47 — i
Uys —/0 e(r)dmrdr —/0 ( 5R6 )ridr 0 R 6ng (65)

Based on the current calculation results, gravitational potential energy seems more suitable as a source of
dark energy. Larger values are possible in the case of the Landau-Lifshiz pseudotensor and the energy-momentum
tensor of the gravitational field discovered by Grishchuk, Petrov and Popova. [13]

For instance, in harmonic coordinates the Landau-Lifshiz symmetric pseudotensor and the energy-
momentum tensor of the gravity field, which was found by Grishchuk, Petrov and Popova (1984),
has a negative energy density of the weak static field :
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. 2
1, = —5%5 (Von) " and
2
11 (&
t%pPP = T 8G <V¢N)
The equivalent mass density of the gravitational field is

1
—Pgf = 6(_/)917) (66)
In the classical model, in the case of spherical symmetry, the gravitational field’s energy and the gravitational
potential energy have the same shape (U = —k(GTAf[z)), only the coefficient is different. Therefore, only the 3(t)
value is different, and the Friedmann equations are of the same form.
Based on current calculation results, the gravitational potential energy is estimated to be more suitable for
dark energy than the gravitational field energy.

B(t) =2.70 (67)
A(t) — é@(llﬂ-c;figt)p(t) )2 _ (GWG];C(?p(t) )2 (68)

4. Forms of expansion

4.1. When new material is introduced within the radius of gravitational interaction

According to the observation results so far, the dark energy density seems to be a constant. One way to
explain these results is to hypothesize the introduction or creation of new substances. Since the cosmological
constant model explains the phenomenon by assuming a uniform energy density, let’s try to explain it through
dynamics here.

The dark energy term suggested by gravitational potential energy model is as follows.

1 t) 4 4 t 2 t)p(t
Ly et — B0) AmGaltiRp(t) , _, 27 GR(@)o(t)
3 15 c S¢

Then, in order for this dark energy term to look like a constant, the following relationship needs to be
established.

)? (69)

(70)

When a matter within a radius R expands to 2R, its density drops to 1/2%. However, the above equation
suggests that when R is changed to 2R, the density drops only by 1/2. Therefore, other kinetic property must
exist.

Let’s assume the following situation. Matter and galaxies are moving according to the Hubble-Lemaitre
law. Assume that the gravitational field is moving at a higher speed than these. The propagation speed of the
gravitational field will have “speed of space expansion” + “speed of light”.

Then, over time, the amount of matter and galaxies that enter into gravitational interactions will increase.
This increase in matter and galaxies has the effect of increasing gravitational potential energy. When Ry is
changed to 2Ry, if the mass is increased by 8, the density remains the same. When Ry is changed to 2Ry, if the
mass is 4 times, the density is halved.

Therefore, the point we need to find is R,, which has a mass 4 times greater than its mass at Ry.

A7R,> A7 Ro?
M, = po = 4( % o) (71)
3 3
Ry = (4)5 Ry ~ 1.587R, (72)

When Ry expands by k times, the value of R, whose mass is k times: R, = (%S)RO
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Comparing the average speed of the field with the average speed of the matter in R,
AR o 2R0—R0 . RO

VRO—Fz‘eld = Tt = T = Kt (73)

AR 2Ry — R, Ry
VR, - Matter = —— = ————— = (0.413)— = (0.413)Vr, _Fie 74
o ttatter = Sy = — i = (0413) 55 = (0413)Vr,—picta (74)
VRo—Ficld = 2.42VR, _Matter (75)

At a time when a(t)R is about half of the current universe, if the speed of the field is about 2.4 times faster
than the speed of matter, dark energy appears to be a constant. In addition, it can be explained through the
addition of new energy such as vacuum energy, not the dynamic explanation.

4.2. When vacuum energy exists and the speed of expansion of matter and the speed of
transfer of gravitational interaction are the same [13]
When vacuum energy exists, the total amount of matter within the range of gravitational interaction is
conserved.

47 47

My = Epm,oRo3 = ?Pm,thS (76)
Ry .-

pmt = () pmo (77)

47 c? drc® | R,
Eyve = M(t)c2 = T(pm,t + p'ue)RtS = 3 ((RO )Spm,O + pve)Rt3 (78)

t

™ t3 m,t ve
U :7§GM(?5)2 :7§GM(%) :747TGMRt2(pm,t+pue) (79)
9w 5 R(t) 5 Ry 5

Strictly speaking, if density is a function of time, then the gravitational self-energy equation is presumed to
be different from the uniform density equation. (The gravitational self-energy density depends on the process
by which the mass gathers.) This is left for future research, and here I will consider only the beginning and
end of the process. Since both the beginning and the end have uniform density, applying the uniform density
equation,

2
ng _ _47rGM(t)R(t)5 (Pm () +pve) _ 747TG(Rt2pm7t 4 thpve) (80)
EME M(t)C2 502
Uyp 3GMy 147G,
= - — + — R poe 81
E]\/IE ( 562 Rt + 5(32 t P ) ( )

As R increases, the first term goes to 0, but the second term increases in proportion to R2. In other words,
the vacuum energy term becomes more important as time goes on.

A model like this can also be used to solve the current dark energy problem. Note that, in the Gravi-
tational Potential Energy Model, vacuum energy does not have negative pressure. Although energy density
always remains constant, positive energy density does not have negative pressure because pressure is related to
momentum or kinetic energy. |[4] Since the gravitational potential energy is a negative energy component, there
is no need to artificially assume a negative pressure.

5. Increase in dark energy

5.1. The ratio of increase in gravitational potential energy to increase in mass energy
To simplify the calculation, assuming a uniform density p, when the range R of gravitational interaction
changes, let’s calculate the change in mass energy and the change in gravitational potential energy.

d(Mc?)

R 47 R?pc? (82)
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d(Ug)  167°G , , , 47R*pG 2 o GM d(Mc?)

B g B0 = (g JUTRpC) = — 55 (—m) (83)
d(Ugp) _ Rg d(McQ)
dR 2R dR (84)

Rg is the Schwarzschild radius of the black hole formed by mass M.
The size of the event horizon formed by the mass distribution of 46.5Gly is 477.8Gly.

d(Uygp) _ _&(d(MCQ) _ ATT.8Gly d(Mc?) d(Mc?)

dR 2R" dR ) 2(46.5Gly)( dR ) ( N dR
If the range of gravitational interaction increases and a positive mass is increases by AM, the equivalent

mass of negative gravitational potential energy is increases by —5.14AM. This value is not a fixed value, it
depends on the density and the size of the range of gravitational interaction.

) (85)

To find the ratio —££ according to R, if R = k x Gly,

0 73R
a(U
“ _ Rs (86)
d(JdVIRcz) 2R
2GM
Rs(k x Gly) = (; = (0.00475 x Gly)(k?) (87)

R(Gly) | Rs(Gly) | —Rs/2R

10 4.80 -0.238
15 16.0 -0.533
20 38.0 -0.950
25 74.2 -1.48
30 128 -2.13
35 204 -2.91
40 304 -3.80
45 433 -4.81
50 594 -5.94

The density used the current critical density, but the density is a variable. Please see the approximate
trend. The rate of increase of gravitational potential energy tends to be greater than the rate of increase of
mass energy. Therefore, at some point, a situation arises in which dark energy becomes larger than matter and
dark matter.

By the way, the negative mass ratio of 5.14 produced is very similar to the ratio of matter : dark matter.

5.2. Increase in dark energy (gravitational potential energy) due to increase in the range of
gravitational interactionn
5.2.1. Matters and galaxies spread almost uniformly throughout the universe through the inflation process.

5.2.2. Matters and galaxies move according to the Hubble-Lemaitre law. On the other hand, the propagation
speed of the field, the range of gravitational interaction, has the fastest speed, the speed of light in expanding
space.

5.2.3. Thus, over time, many new substances (matters and galaxies, or vacuum energy ..) enter the range
of gravitational interaction. In other words, the newly entering materials (or energy) undergo gravitational
interaction, resulting in an increase in mass (or energy) and an increase in gravitational potential energy in the
region within the range of gravitational interaction.

5.2.4. By the way, while mass energy is proportional to M, total gravitational potential energy

(gravitational self-energy) is proportional to —%2. As M increases, the gravitational potential energy
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T

(46.5Gly)

Particle Horizon

Figure 3: The past range of gravitational interaction, the present range of gravitational interaction,
and Rg,= 21.4Gly (The inflection point calculated assuming 1.5 times the current average density),
the inflection point at which the magnitudes of repulsive and attractive forces are equal. When the
range of gravitational interaction is smaller than Ry, the attractive component is dominant, and
when the range of gravitational interaction is larger than Ry, the repulsive component (gravitational
potential energy) is dominant.

(absolute value) increases faster. Accordingly, the repulsive force component increases faster than the attractive
force component.

5.2.5. The increase in gravitational potential energy (absolute value) due to the newly incorporated mass
(energy) into the range of gravitational interaction is results in an increase in dark energy. The same principle
applies to the birth of energy or vacuum expectation value within the range of gravitational interaction That is,
when the mass energy increases by M, the absolute value of gravitational potential energy increases by f%. In
this model, even if a mass is born while satisfying energy conservation in a local area, as the new gravitational
field propagates, the gravitational interaction with other matter will increase. Accordingly, an increase in the
absolute value of gravitational potential energy may occur.

The same principle can be applied to vacuum energy. Vacuum energy (or vacuum expectation value)
may also be present in this model. At this time, vacuum energy with positive energy density
does not have negative pressure, but pressure has positive pressure and negative gravitational
potential energy.

5.2.6. In the present universe, it is predicted that the dark energy effect (repulsive effect) surpassed the
gravitational effect of matter and dark matter about 5 ~ 7 billion years ago. According to this model, it is the
point at which the positive mass energy and the negative gravitational potential energy are equal. Knowing the
average density function, we can get the exact value.

5.2.7. Gravitational potential energy is a concept that already exists and is negative energy that can create
repulsive force. This model produces similar results to the phenomenon of applying negative pres-
sure while having positive inertial mass. As the universe ages and the range of gravitational interaction
increases, the positive mass energy increases (new influx or birth of matter), but the negative gravitational
potential energy created by these positive mass energy is greater.

6. Two periods of accelerated expansion, the early inflation period
and the late dark energy period

In the history of the universe, we know that there have been two periods of accelerated expansion. However,
both periods of accelerated expansion require repulsion on a cosmic scale. Therefore, rather than explaining
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the two periods of accelerated expansion with two different factors, there is a desire to explain them with one
factor, that is, one dark energy model.

In the gravitational potential energy model, dark energy has a density p?(t) term. Therefore, at high
densities during inflationary periods, the dark energy term becomes very large. Therefore, the gravitational
potential energy model has the potential to simultaneously explain periods of inflation and dark energy. [13]

7. The future of the universe

In the standard cosmological AC DM model [4], dark energy is an object with uniform energy density. Thus,
this universe will forever accelerating expansion.

In the gravitational potential energy model, the source of dark energy is the energy of the gravitational field
or gravitational potential energy. The gravitational potential energy is proportional to —M?2/R, and if there is
no inflow of mass from outside the system, absolute value of gravitational potential energy can decrease. From
the point where the velocity of the field and the velocity of matter become the same, there is no inflow of matter
from the outside of the system. On the other hand, as R increases, the absolute value of gravitational potential
energy decreases.

Therefore, in the gravitational potential energy model, the universe does not accelerate forever, but at a
certain point in the future, it stops the accelerated expansion and enters the period of decelerated expansion.
However, the universe will not shrink back to a very small area like the time of the Big Bang, but will maintain
a certain size or more. Its size depends on Ry, (or Rgp—vir (Rgp—vir = %Rgp)) produced by the positive mass
energy within the range of gravitational interaction.

If there is something like vacuum energy (with positive pressure, not negative pressure) in the universe, it
also has the effect of increasing the mass of the system. In this case, the expansion of the universe can go on
forever.

8. How to validate the dark energy model that gravitational po-
tential energy is the dark energy

8.1. Find the values of p(t) and R(t)

p(t) is the average density of the area under consideration, and R(t) is the range of gravitational interaction.
The R(t) used by this model is an estimated value based on the current observation result. If the basic values
of current cosmology change, R(t) and p(t) can change.

The key point is that the positive energy (or mass) distribution itself has a gravitational
potential energy with a negative value. And, this gravitational potential energy (or gravitaional
field’s energy) is the source of dark energy.

8.2. At each time, within the R(¢
3

)
Find B(t) = M(1)e* and Uy (1) = —3 S 8(0)

E(t) = M(t)c? is the attractive energy component and Uy, (¢) is the repulsive energy component.

8.3. Compare Usp (1)

E(t)
Compare Ug’zt()t ) with the observations. And for the inflection point transitioning from decelerated expansion

to accelerated expansion, the theoretical value and the observed value are compared.

with the observations

8.4. It is necessary to verify the Friedmann equations and the dark energy function
In the gravitational potential energy model, the dark energy is a function of time. Therefore, if the dark
energy effect is precisely observed, it is possible to determine whether the model is right or wrong.

A(t)e* B(t) AnGR(t)p(t) 5 _ 3 27GRp

3 _15( ¢ )2_(5(; )’

(83)
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Recently, there are claims that the w value of dark energy is not -1, but w = —0.903. This suggests that
the cosmological constant model may be wrong. [14]

Observation results of 1499 supernovae by the DES (Dark Energy Survey) team (2024.01)

The standard cosmological model is known as ACDM, or ‘Lambda cold dark matter’. This mathe-
matical model describes how the Universe evolves using just a few features such as the density of
matter, the type of matter and the behavior of dark energy. While ACDM assumes the density of
dark energy in the Universe is constant over cosmic time and doesn’t dilute as the Universe expands,
the DES Supernova Survey results hint that this may not be true.

they also hint that dark energy might possibly be varying. “There are tantalizing hints that
dark energy changes with time,” said Davis, “We find that the simplest model of dark energy -
ACDM - is not the best fit. It’s not so far off that we’ve ruled it out, but in the quest to understand
what is accelerating the expansion of the Universe this is an intriguing new piece of the puzzle. A
more complex explanation might be needed.” [15]

BAO observation results by the DESI (Dark Energy Spectroscopic Instrument) team (2024.04)

"It’s not yet a clear confirmation, but the best fit is actually with a time-varying dark
energy,” said Palanque-Delabrouille of the results. ”What’s interesting is that it’s consistent over
the first three points. The dashed curve [see graph above] is our best fit, and that corresponds to
a model where dark energy is not a simple constant nor a simple Lambda CDM dark energy but a
dark energy component that would vary with time. [16]

9. Conclusion

When the bound system acts on gravity, the gravitational action of gravitational potential energy is also
included. Therefore, even in the case of the universe, we have to calculate the gravitational action of grav-
itational potential energy or gravitational field’s energy. Since gravitational potential energy has a negative
equivalent mass, gravitational potential energy creates a repulsive force. If the gravitational potential energy
or gravitational field’s energy is greater than the positive mass energy, it can be a candidate for dark energy to
explain the current accelerated expansion. And, when we calculated the gravitational potential energy for the
observable universe, it is approximately three times larger than the positive mass energy, so it can explain the
accelerated expansion of the universe.

Positive energy is an attractive component, and the Negative energy (gravitational potential energy) is a
repulsive component. Therefore, if [(—My,)c?| < Mc?, there is a decelerated expansion, and if |(—My,)c?| >
Mc? | accelerated expansion is performed. |(—My,)c?| = Mc? is the inflection point from the decelerated
expansion to the accelerated expansion.

The effect of dark energy occurs because all positive energy (matter, radiation, (if present) vacuum energy...)
entering the range of gravitational interaction produces negative gravitational potential energy. Since the total
mass in the range of gravitational interaction is proportional to M, whereas the gravitational potential energy
is proportional to —%2, the repulsive force component increases faster and accelerated expansion occurs. This
model can be verified because it points to the gravitational potential energy and the range of gravitational
interaction as the causes. This model predicts an inflection point where dark energy becomes larger and more
important than the energy of matter and radiation. Also, dark energy is presented as a function of time.

The key argument of this paper is that when a positive mass density +p exists, then there is an equivalent
mass density —pg,, of the gravitational potential energy or the gravitational field energy, created by this positive
mass density. And, the equivalent mass density of the gravitational potential energy or the gravitational field
energy is the source of dark energy.

If there is a change in the observed value of the positive mass density (such as the critical density), the size
of the interaction range can change.
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There is no cosmological constant. Dark energy does not have a constant energy density, and the density
of dark energy is a function of time. The source of dark energy is the gravitational potential energy or the
energy-momentum of the gravitational field. Because the observable universe is almost flat and very dense,
gravitational potential energy or gravitational self-energy can be good approximation to the dark energy.

References

[1] Hans C. Ohanian, Gravitation and Spacetime, (W. W. Norton & Company, New Yorl), (1976).

[2] Einstein A, Grossmann M Entwurf einer verallgemeinerten Relativitdtstheorie undTheorie der Gravitation.
Z. Math, und Phys., (1913).

[3] Lev Davidovich Landau and Evgeny Mikhailovich Lifshitz, The Classical Theory of Fields, (Pergamon
Press, Oxford), (1951).

[4] Bradley W. Carroll, Dale A. Ostlie. Introduction to Modern Astrophysics. 2nd Edition. (Pearson Education,
Inc., London). (2007).

[5] Riess, A. G. et al. Observational evidence from supernovae for an accelerating universe and a cosmological
constant. Astron. J. 116, 1009-1038 (1998).

[6] Perlmutter, S. et al. Measurements of omega and lambda from 42 high-redshift supernovae. Astrophys. J.
517, 565-586 (1999).

[7] Hyoyoung Choi. On Problems and Solutions of General Relativity (Commemoration of the 100th Anniver-
sary of General Relativity), (2015).

[https://www.researchgate.net /publication/286935998]|[http:/ /vixra.org/abs/1511.0240].
[8] Guth, Alan, Inflationary Cosmology Guth FOUR at Youtube, (2008).
[9] Stephen Hawking. A Brief History of Time (Bantam Dell Publishing Group, New York). (1992).

[10] Planck Collaboration et al., Planck 2018 results. VI. Cosmological parameters, (2018).
[https://arxiv.org/abs/1807.06209]

[11] Steve Hurley’s website. Cosmic Horizons, (2021).
[https://explainingscience.org,/2021,/04/30/cosmic-horizons/|

[12] Yu. V. Baryshev, Energy-Momentum of the Gravitational Field: Crucial Point for Gravitation Physics and
Cosmology, (2008).

[https://arxiv.org/abs/0809.2323]

[13] Hyoyoung Choi. The Birth Mechanism of the Universe from Nothing and New Inflation Mechanism), (2023).
[https://www.researchgate.net /publication/371951438|[https://vixra.org/abs/2306.0164].

[14] Fuyu Dong et.al. Tomographic Alcock-Paczynski Test with Redshift-Space Correlation Function: Evidence
for the Dark Energy Equation of State Parameter w > —1, (2023).

[https://arxiv.org/abs/2305.002006]

[15] NOIRLab, Dark Energy Survey Publishes Definitive Results from Largest, Deepest, Most Uniform Super-
nova Sample. (2024)

https://noirlab.edu/public/news/noirlab2401/?1lang

[16] ars TECHNICA, Dark energy might not be constant after all, (2024)
https://arstechnica.com/science/2024/04 /dark-energy-might-not-be-constant-after-all /

20



